SERPAGC

Electronic Enclosures

I1652HL

- 17.75 o
OVERALL WIDTH
-
7 N A
(7 . N\
Kfl} \E%s 4,] \
| B 16.27
OVERALL
J LENGTH
¥/ ; 11.75
BOSSES
t ] - r:/ ——— ] {T'x Y
| LI IJ
QI A i‘} n ﬂ '
=i
A ~
—~- 13.75 BOSSES -
- 16.16 MAXIMUM -
INSIDE WIDTH
A @ A
See pdf pages 2-4 for optional
panels and panel hardware
_ Hinges for pn 7300TH
11.13 11.41 hinged °'U"2'2"il:l'2|§ggg)'
CASE . OVERALL
HEIGHT HEIGHT
Aluminum panels for bottom,
hinge, and top are not included.
. f They are available as options:
Y LoD i1 ___ oy Y Bottom panel p/n 73000
EEE S 1 Hinged panel p/n 73020
44 BOSS Top panel p/n 73040
HEIGHT
- 15.47 MINIMUM -
INSIDE WIDTH

SECTION B‘B

Open 1652HL with rotating feet

(4 included)

81 INSIDE_| 10.00 INSIDE
TOP HEIGHT BOTTOM HEIGHT
‘ (A i ‘
ﬁéu
14.19 MAXIMUM

INSIDE LENGTH

13.57 MINIMUM
INSIDE LENGTH

SECTION A‘A

-Material: UV stabilized Polycarbonate

Flommability UL 94 V-2

-Watertight enclosure meets or

exceed Nema 4 and or IP67.

PARTS INCLUDED

P/N | Qty. Description

650 HLT| 1 650 HL Top

650 HLB| 1 650 HL Bottom
8650 1 650 Perimeter O-ring

7011M | 2 I-Series Safety Latch
1355 4 Corner Mounting Feet
1308 1 350 Panel hinge A
1309 1 350 Panel hinge B
6028 9 SS #10 X 5/8" Pan H/L

7/25/17

2009 Wright Ave. La Verne, CA 921750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7300T Top Panel Kit for

Electronic Enclosures. [ &4 52 HL

- 16.04 :’/ R.35 =l 06
A /N A
N\ li ‘
14.14 - - - - - - - - } 13.66
| K@_ %&L
4X @ .20 THRU
- 15.56 PARTS INCLUDED
P/N Qty. Description
73040 1 Top Aluminum Panel
6029 4 SS #10 X 3/8" Pan HL Screw

7/25/17
2009 Wright Ave. La Verne, CA 21750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7300B Bottom Panel Kit for

Electronic Enclosures 1652 HL

- 14.25 —
9X @ .20
A KQ O
)
& * * * * * * &
12.38 ¥ s
' & 1

&
L 13.75

— - )4
PARTS INCLUDED
P/N Qty. Description
73000 1 Bottom Aluminum Panel
6029 9 SS #10 X 3/8" Pan HL Screw

7/25/17

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAG

Electronic Enclosures

7300TH Hinged Top Panel Kit for

I1652HL

- 14.17 -
1.32 —a— —PR .13 - 04
I * 4X @ .20 THRU
7 Q
4 J
i < i
6.11
14.14 X : : : : : : : : : : : 12.94
6.83
Y Y
! 2 &
PARTS INCLUDED
R .35 - 15.56 P/N Qty. Description
) 73020 1 Hinged Top Aluminum Panel
6029 2 SS #10 X 3/8" Pan HL Screw
- 16.04 -
6030 2 SS #10 X 3/8" Pan Combo H/L Screw
6105 2 SS #10-32 X1/8" Nut

7/25/17

2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




	I652HL
	Drawing View20
	Section View A-A
	Section View B-B
	Drawing View26

	73040T
	Drawing View14
	Drawing View16

	73000B
	Drawing View11
	Drawing View13

	73020TH
	Drawing View8
	Drawing View10


